Residual error plot for LDL-C by Friedewald formula (Roche; N = 2,356)
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Residual error plot for LDL-C by Friedewald formula (Siemens; N = 659)
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Residual error plot for LDL-C by Friedewald formula (Beckman; N = 893)
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Residual error plot for LDL-C by Sampson formula (Roche; N = 2,356)
MAD = 10.07

N
o
=

[N
=1
=

y=-29-0.047 x

R*=0.12

o
=
.

50- 4

Calculated LDL-C (Sampson) - Direct LDL-C (Roche), mg/dL
=)
3

0 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
Triglycerides, mg/dL
Residual error plot for LDL-C by Sampson formula (Siemens; N = 659)
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Residual error plot for LDL-C by Sampson formula (Beckman; N = 893)
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Residual error plot for LDL-C by Martin/Hopkins formula (Roche; N = 2,356)
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Residual error plot for LDL-C by Martin/Hopkins formula (Siemens; N = 659)
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Residual error plot for LDL-C by Ext. Martin/Hopkins formula (Roche; N = 2,356)
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Residual error plot for LDL-C by Ext. Martin/Hopkins formula (Siemens; N = 659)
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Residual error plot for LDL-C by Ext. Martin/Hopkins formula (Beckman; N = 659)
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